C:# Subtraction within 100

Name:
Solve each problem. Answers
1) Dave had some quarters. He spent sixteen of them at the arcade and
had eighty left over. How many quarters did he have to start with? 1.
2.
2) Thebook fair sold three posters. Now they have ninety-five posters
left. How many posters did they have to begin with?
3.
3) Oliver owned seventy-one baseball cards. For his birthday he got 4.
seventeen more. How many cards does Oliver have total ?
5.
4) For Halloween Victor got eighty-four pounds of candy. If he gave
forty-eight pounds to Maria, how many pounds would he have |eft? 6.
7.
5) An aguarium had fifty-seven fish in it. Later they added twenty-two
fish. How many fish are in the aquarium now?
8.
6) A store had ninety-eight sodas. After a sale they had ninety-six left. )
How many did they sell?
10.
7) Carol's hair was eighty-nine centimeters long. If she cut off forty-six
centimeters, how long is her hair now? 11.
12.
8) Atthefair Haley started with forty-eight tickets and then bought
twenty-seven more. How many tickets did Haley have total ?
9) A clown had thirty-eight balloons. After a party he had thirty-six
left. How many balloons did he use at the party?
10) Lanaowned eighty-nine DVDs. If she sold sixty-six of them, how
many would she have left?
11) Vanessa had ninety-one pieces of candy. She ate fifty-three pieces.
How many pieces of candy does Vanessa have now?
12) Gwen took ten dollars from her piggy bank. Now she has thirty
dollarsin her piggy bank. How much money was originaly in
there?
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 111121 8] 0




ﬂh Subtraction within 100

Solve each problem.
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11)

12)

Name: Answer Key

Dave had some quarters. He spent sixteen of them at the arcade and
had eighty left over. How many quarters did he have to start with?

The book fair sold three posters. Now they have ninety-five posters
left. How many posters did they have to begin with?

Oliver owned seventy-one baseball cards. For his birthday he got
seventeen more. How many cards does Oliver have total ?

For Halloween Victor got eighty-four pounds of candy. If he gave
forty-eight pounds to Maria, how many pounds would he have |eft?

An aguarium had fifty-seven fish in it. Later they added twenty-two
fish. How many fish are in the aquarium now?

A store had ninety-eight sodas. After a sale they had ninety-six left.
How many did they sell?

Carol's hair was eighty-nine centimeters long. If she cut off forty-six

centimeters, how long is her hair now?

At the fair Haley started with forty-eight tickets and then bought
twenty-seven more. How many tickets did Haley have total ?

A clown had thirty-eight balloons. After a party he had thirty-six
left. How many balloons did he use at the party?

Lana owned eighty-nine DVDs. If she sold sixty-six of them, how
many would she have left?

Vanessa had ninety-one pieces of candy. She ate fifty-three pieces.
How many pieces of candy does Vanessa have now?

Gwen took ten dollars from her piggy bank. Now she has thirty
dollarsin her piggy bank. How much money was originaly in
there?
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